50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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10EC82

e

Note: Answer any FIVE full questions, selec

a.

e

o

o

oo

IS

o

Max. Marks:100

1g at least TWO full qué@@ns from each part.

S

Explain the Network Services ~~fv§1th~rd1agram showing the, vrel; onship of service and bearer

networks. ; (06 Marks)
Explain the importance of the four wire circuit in Telephone network with relevant diagram.

A N (07 Marks)
Explain the synchronous. dlgltal hierarchy system th relevant diagram and SDH frame
structure. 4 (07 Marks)

>

o |

jtching. Give comparison between them.
(06 Marks)

A&

Explain the %nctlons of a switching system (06 Marks)

Explam"t 1e bulldmg blocks of d1g1ta1 sw1tch1ng system

1) W1th lines and trunks

i)  With the line modules andimink modules

iii)  With network control processors. (08 Marks)
£

Explain congestion relevant to the telecommum (06 Marks)

On average, one call arrlves every 5 second ) Durmg a pemod of 10 seconds, what is the
probability that ’ 7

i)  Number, of calfs arrives?
ii) One call: amves" o,
1)) Two calls arrives? h
iv)  More than two calls arrWe? , ’ g (08 Marks)
Explam jhé Queueing System ,1t11 diagram, in telecommumcatlon traffic. (06 Marks)

&

a. g Explaln the principle §f Gradmgs n sw1téfnng networks with sixteen trunks interconnected

b

o

P

c

o

0 two groups of sw1tches of avallablhty 10. And also write the full diagram and Grading

dragram & (08 Marks)
Design a three- stage network for gonnecting 100 incoming trunks to 100 outgoing trunks.

) e ‘W’ (06 Marks)
Explain bneﬂfy about Grades of service of link systems. (06 Marks)

S’

Explain the space andit ’/ev switching with space-sw1tch diagram and Time-switch diagram
briefly. ¢ ' (10 Marks)
Explain the operation of the Time-Space-Time (T-S- T) switching network with m number of
PCM hlghways ‘a ‘d ‘1 number of time-slots. (05 Marks)
Explain the process of synchronization in Time division switching with diagram showing the
frame alignment of PCM signals entering a digital exchange. (05 Marks)
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